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There are 25 multiple choiCe ciuestions. Youwill get Vi points for each correct answer.

1. Which of the followmg events would legd to a decrease in the marginal product of
! .

/
labor for every quantity of labor’? rm

(a) An increase in the real u:f { JLC ase in the real wage ;(c) A

favorable supply shock such as a fall in the pnce of oil (d)An adverse supply

shock, such as a reduced supply of raw matenals.

2.A computer company buys computer ch1ps for $20,000 from a semiconductors

- company. It pays its workers $35, 000 pays $1000 in taxes and has profits of $3000.

 'What is its value added?

(@) $19,000:(b) $30,000; (c) $39 ooovfd)l$39',ooo.

3. Over the past year output gre b*y”tt%’,‘cdpnal grew by 2%, and iabor gtew by .
1%. If the elasticities of output wﬁch respect to capital and labot :are 0'.3 and 0.7,
respectivel'y, by how much did productivity grow?

(2) ‘2.'0.%;‘(b)2.7%;(c)3.0%'(d)3.3%.

4,  Inthe Solow model steady-state‘mvestm‘ewn%jper worker is posmvely related to

[ |

the capltal-labor ratio becauiej.ggngf t capital-labor ratio
&; J

{a) the lower the capital depreEd at on the greater the amount of
resources available for cap1ta1 investment; (c) the more investment per wotker is
required to replace depreciating capital; (d) the less the economy needs to equip

new workers with the same high level of capital.

5. Al of the following are causes of structural unemployment EXCEPT
|~
(a)minimum-wage law;(b)the fionopo iy_po er of union; (c)unemployment

| o )
6. A decrease in wealth that dGesn’'T affect Iab"éjr supply would cause the IS curve to

insurance; (d)efficiency wagéf? T

‘and the FE line to
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10.

11,

(2) shift down and to the left; be unchanged; (b} shif down and to the lefi; shift

lefi; (c) shlﬂ up and to the nght be- unchangﬁd (d)Shlft up and to the right; sh1fc

left

A temporary adverse supply vyou(JJ

(a) shift the IS curve down and to the left and leave the FE line unchanged

' (b) Shlft the IS curve down and to the left and shift the FE line to the left;

(c) s]:uﬂ the IS curve up and to the nght but leave the FE lme unchanged

(d) have no effect on the IS curve.
Accordmg to the mlsperceptldﬁ“th ory”w n P <P, output is _ __ its

fulluemployment level and the shori=m ag egate supply curve must shift

rmanm

to restore full emplo il ~ '

(@) "bel_ow;_ upward; (b) below; downward; (c)above; upward (d)above;

downward A

If currency held by the public equals $100 billion, reserves held by banks equal

$50 billion, and bank deposit’s equal $50b illion, then the monetary base equal

(a) $50 bllhon; (b) $100 blll‘_l_c‘m_;jc) T'SO billion ; (d) $600 billion.
| I

In the Keynesian model in the-shi , thd amount of employment is

determined by the effective labor demand curve and the level of B

(a) priceS' (b) outpu_t; (c) the real interest rate; (d) the supply of labor.

Accordmg to Keyne31ans, the effect of an increase in the effectwe tax rate on

cap1tal wou_.ld be to cause Th'e reaﬂnterest rate and __inoutputin’
the short run. SR

-

(a) adecrease; a decrease (b& a d“ cred’se »i? change;(c) an increase; an increase

(d) no ehange; a decrease. ‘
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'12.  Classical economists oppbse government intervéntion in the economy for all the

reasons below EXCEPT that :

(a) pohcues to smooth out the,huﬂfmss e pre undesn'able in pnnmple
(b) mcreascd government expe d1 ill lpwer the real wages of workers
(c) govemment policy is mcapable of smoothmg out the business cycle

' (d), increases in govemment spendmg cannot increase the level of output and

employment in the economy.

H

13. According to the misperceptions theory, an‘anticipated 8% decrease in the

money supply Teadsto a short—mm«re ugtion 1 it the price level of 'i

(@) 0%_; (b)4%; (c) some amount bafwee 0."/) and 8%; (d)8%.

14. Suppose output is $35 billion, ovemmeﬁtwpurchases are $10 . “billion, and -

net exports are $4 billion. The desired investment is
(a) $2 billion; (b) $4 billion; (c) $6 billion; (d).$8 billion. :
15.Ina sniall, open economy with a fixed exchange'rate, if the government increases

purchases, then in the new shdft—run equi 'h'b}'i i

]
(a) the exchange rate rises but_mc.om6 oes nor rise;(b) income rises but the

exchange rate does not rise; (c@h gm j.nd the exchange rate rises;

(d) neither income nor the exchange rate rises, as the money supply decreases. |
16. Which of the following mactoeconomic variables is procyclical énd coincidént

with the business cy.c.:le? |

(a)' .-'Reside'ntial iﬁvestnlent; (b) inal intergst rates; (c)Industrial }';roduétion '

(d) Unemployment. -
R rwJ rmnmm

17. thch of the following statembntsfuré  trye? '
N

(a) Employment and unemployment are both coincident with the business cycle;
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18.

19.

20.

21.

22,

(b) Employment and unémployment‘ are bﬁth prbcyclical'(c)Emplojzmenf is

procychcal and unemployment is oochldent ylth the busmess cycle; (d)

Employment is procyclical m?_pﬂo is countercychcal

In the long run, an increase mj j;nsple tp chases would cause output to

and the price levelto

- (a) rise; risé;(b) rise; stay constant;(c) stay constant; stay constant;

(d) stéy cbﬁstant; rise.
The key difference between classical and Kéynesian macroeconomists is their
differing beliefs about

(a) the siope‘ of the aggregate de"mand.ou{flve;. (b) the speed af_.which prices

aﬁjﬂst; | (c)the natural rate of ﬁnx-ﬁp‘Té“y”ﬁ}ehl;@i) the full—employmént level of
oﬁtput.

Suppose you eamed a salary of $25,000 and spent $24,000, thus saving $1000

At the end of the year, you received a bonus of $1000 and spent $500 of it,

saving the other $500. What wae'y’our maﬁg_uﬁlal propensity to consume?

[EU— |

(2) 0.96; (b) 0.50:(c) 0.04; (@002,

With a nominal interest rrate ot; @ Ejpi Led inflation rate of 1 %; and interest
income taxed at a rate of 20%, what is the expected after-tax re.ﬁl interest rate?
(a) 3%; ()2%; (c)1%;.(d)0%

In goods market equilibrium in an open eqonomy,.

(a) the desired amount of expogwsm myist ¢ eq’gghthe desired amount of ﬁnpoﬂs;
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(b) the desired amount of exports must equal ihe desired amount of imports less

the amount lent abroad;(c) the dgesired amobmt of national sav'ing must equal the

desired amount of domestic nivest{qe ; (d)the desired amount of hational
savmg must equal the des1r &'d mestic investment plus the amount
lent abroad.

23. Endogqnous growth theofy attemi)ts to
(@) ‘show how important money growfh is;(b) explain how societies can more
eés’ily reacﬁ the “Golden-Rulle;"; (c) show hofv populationk gbeth reduces capital

and output; {d) explain why prod

ctiVity changes.
[

24. A decréasein the expected rhte of inflation would

(a) shift the Phillips curve u mﬁ:éb}é ift the Phillips curve downward.
(c) shift the long-run Philiips curve to the right;(d) shift the long-run Phillips
curve to the left.

25. 'Which of the following is included in GDP?

(a) The sale of a new car froma manufa__qc'ﬁurerfs inventory;(b) The purchase of

(SRS |

a waich in a overseas travet;éc)The rﬁl of a used car;(d) A nery constructed

house. A _ - _
o M!:_JMJ o




